3. @x() = ("t —e™ ) /(2T — 1)
(b) x(t) = (r* — 25t +12) /12
4. (@) x(t) = Bsint + acost forall («, B)
(b) x(t) = cysint +acostforalla+ 8 =0

oM ¢, 2 &2lof =+

—

8. p(z)=V9+62
9. v(z)= (e’ +e+zet—2)/(2e?)
10. & 7K & 2"(a)=2 &= 2’ () =2 2"(b)=w 2 AHETIC}L

M. z(t)=—e"+2In(t+1)+ 3¢

15. 2" =—2,2(0) =1, 2'(0) = 22| = x(t) = cost+ zsintO|Ct. AHEE ¢ (z)=z(r)=—10|C}
2

et §TO0|E2 & O8A HHE o(z)=32 &= + BICL



B h
1, —(1 _ E)xi_1 21+ k) — (1 - E)xm = _h?
2. x ~029427, x5 ~0.57016, x3~ 0.81040

4. ' (0)=—

8 —a, +2+Q+t)R e~ 2, =0

9. x(t) =1[7/u(2)]u(r)
1. x{ = —x1,x1(0) =3,x1(0) =z
x =Acost+ Bsint,3=x(0) =A,
x' = —Asint + Bcost & 2|0|3tCt,
2z, =2'(0)=B2 2@, x1 =3cost+zjsint, xp =3cost + zpsint.
A oo e x =2ix;+ (1 —Ax,
A =18 —x2D)]/[x1(b) — x2(b)]
=x[7 = (=3)1/[(=3) = (=3)] = 10/0

11.2 AFEH A=A

2. @ z=1/(1+¢)
(b) z=—1log(1+1)



